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1.  Inthe Lassaigne’s test of nitrogen the Prussian blue colour is obtained due to
(a) Fe, [Fe(CN)¢]; (b) Na,[Fe(CN)(];  (c) FeSO, (d) CuSO,

2. The IUPAC name of formic acid
(a) Butanoic acid (b) Propanoic acid  (c¢) Ethanoic acid (d) Methanoic acid

3. The formula of Acrolein is
(a) CH,=CH-COOH (b) CH,=CH-CHO
(c) CH,=CH-CN (d) CH,=CH-CONH,

4.  Vinegar is primarily composed of
(a) Nitric acid (b) Tartaric acid (c) Citric acid (d) Acetic acid

5.  Carbon and hydrogen are detected by heating the compound with
(a) CuO (b) Ag,0O (c) Cu,0 (d) CaCO,

6.  Which one of the following order of relative strength of acids is correct ?
(a) CICH,COOH >FCH,COOH > BrCH,COOH

(b) FCH,COOH > CICH,COOH > BrCH,COOH
(c) CICH,COOH > BrCH,COOH > FCH,COOH
(d) BrCH,COOH > CICH,COOH > FCH,COOH

7.  Amino acids with the aliphatic ‘R’ group are

(a) Serine, Threonine, Cysteine (b) Glycine, Alanine, Leucine
(c) Lysine, Arginine, Histidine (d) Phenylalanine, Tyrosine, Tryptophan
8.  Purine base found in RNA is
(a) Cytosine (b) Thymine (c¢) Guanine (d) Uracil
9. Benzene diazonium chloride on reaction with phenol in weakly basic medium gives
(a) Diphenyl ether (b) p-hydroxy azobenzene
(c) p-amino azobenzene (d) Chlorobenzene

10. What is the common name of
HOOC - (CH,), — COOH ?

(a) Adipic acid (b) Glutaric acid (c) Succinic acid (d) Malonic acid

11.  Which of the following vitamins helps in blood clotting ?
(a) Vitamin A (b) Vitamin C (c¢) Vitamin D (d) Vitamin K

12. Identify the hormone that regulates the glucose level in blood.
(a) Glucagon (b) Insulin (c) Oxytocin (d) Vasopressin

13.  Which colour spots are seen when TLC plate is kept in iodine chamber ?
(a) Green (b) Red (c) Yellow (d) Brown
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14. A carbohydrate, commonly known as inverted sugar, is
(a) Sucrose (b) Maltose (c) Lactose (d) Cellulose

15. The number of carbon atom/s in formaldehyde is
(a) 1 (b) 2 (c) 3 (d) 4

16. The molecular formula of pentanoic acid is
(@) CsH,,0, (b) C;Hy0, (c) CH,,0 (d) CH,,0,

17. The purification method where solid substances change from solid to vapour state without
passing through the liquid state, is called as
(a) Distillation (b) Crystallization
(c) Sublimation (d) Differential extraction

18. What is the basis for the process of crystallization ?
(a) Difference in solubility (b) Difference in boiling point
(c) Difference in melting point (d) Difference in temperature

19. Which one of the following is a primary amine ?
(a) N-Methyl aniline (b) Ethyl amine
(c) Dimethyl amine (d) Trimethyl amine

20. Which one of the following statement is incorrect ?
(a) Excess vitamin intake is harmful. (b) Vitamin can be produced by plants.
(c) Vitamin deficiency causes diseases.  (d) Vitamins contain amino groups.

21.  Which one of the following is a non-reducing disaccharide ?

(a) Galactose (b) Maltose (c) Sucrose (d) Trehalose
22. [If the non-volatile impurities contaminate the liquid, its boiling point gets :

(a) Depressed (b) Elevated

(c) Remains same (d) First depressed then elevated

23. Glass does not possess a sharp melting point, because
(a) 1itis an amorphous solid. (b) it is a crystalline solid.
(c) itis akind of rubber. (d) it is made up of only one substance.

24. Which is commonly used as a food preservative ?

(a) Tetrazine (b) Sorbitol
(c) Terephthalic acid (d) Sodium benzoate

25. The shape of trimethylamine is
(a) square planar (b) see-saw (c) pyramidal (d) tetrahedral

26.  Which one of the following statements is true about protein ?
(a) Proteins are Polyhydroxy aldehydes and ketones.
(b) Proteins are polymers of nucleotides.
(c) Proteins are polymers of amino acids.
(d) Proteins are polymers of disulphide bridges.
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27. Identify the product A in the following reaction :

(i) Ag,O
CH,CH,COOH > A
(11) Brz/CCl4
(a) CH;—Br (b) CH;-CH,~-Br
(¢c) CH;-CH,-CH,—-Br (d) CH;—-CH,

28. Benzoic acid reacts with conc. HNO, and conc. H,SO, to give

(a) o-nitrobenzoic acid (b) p-nitrobenzoic acid
(c) m-nitrobenzoic acid (d) o, p-dinitrobenzoic acid

29. An aldehyde on reaction with primary amine forms
(a) Grignard reagent (b) Schiff’s base
(c) Tollen’s reagent (d) Diazonium salt

30. What is used to preserve dead animal bodies ?
(a) HCHO (b) HCOOH (c) CH,COOH (d) CH,CHO

31. A mixture of benzaldehyde and formaldehyde on heating with aqueous NaOH solution gives
(a) Benzyl alcohol and Sodium formate  (b) Sodium benzoate and Methanol
(c) Benzyl alcohol and Methanol (d) Sodium benzoate and Sodium formate

32.  Which one of the following is not an indicator ?
(a) Methyl orange (b) Methyl red (c) Litmus (d) Benzophenone

33. The alkali and alkaline earth metals belong to which groups ?
(a) Iand I Groups(b) Iand IV Groups (c) Iand Il Groups (d) IIl and IV Groups

34. According to Bronsted-Lowry concept, an acid is a substance that
(a) Accepts a proton (b) Releases a proton
(c) Accepts an electron pair (d) Releases an electron pair

35. A salt of weak acid and weak base on hydrolysis gives a solution which is
(a) acidic
(b) basic
(c) neutral
(d) sometimes acidic, sometimes basic and sometimes neutral

36. According to Lewis concept, an acid is acceptor of :
(a) Proton (b) Base (c) Electron (d) Electron pairs

37. The concept of pH was introduced by
(a) Arrhenius (b) Bronsted (c) Lewis (d) Sorenson

38. The pH value of an aqueous solution of CH;COONa is

(a) equalto?7 (b) equalto 0 (c) less than 7 (d) more than 7
39. The a & B forms of D-Glucose are known as

(a) Anomer (b) Epimer (c) Racemic mixture (d) Enediol
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40. The second electron affinity of an electron is always
(a) zero (b) positive (c) negative (d) infinity

41. The boiling point of H,O is
(a) lessthan H,S (b) more than H,S (c) equal to H,S (d) zero

42. Which one of the following is most polar bond ?

(a) H-CI (b) H-F (c) H-1 (d) H-Br
43. Deuterium is generally known as

(a) Heavy hydrogen (b) Light hydrogen

(c) Double hydrogen (d) Gas hydrogen
44. The boiling point of water at 01 atm pressure will be

(a) 60°C (b) 40°C (c) 100°C (d) 120°C
45. The density of ice is

(a) less than water of 0 °C — 4 °C (b) more than water of 0 °C — 4 °C

(c) equal to water of 0 °C —4 °C (d) zero
46. Which one is used in the formation of Atom bomb among the following ?

(a) Thorium (b) Neptunium (c¢) Plutonium (d) Uranium
47. Lime water test is relevant for the following acidic radical :

(a) SO (b) COT (c) NO, (d) CI-
48. Which one of the following is not a Lewis base ?

(a) NH, (b) CN™ (c) AICL, (d) ROH
49. The unit of the viscosity is

(a) dynes/cm (b) g/ml (c) centipoise (d) g/litre
50. The heat of neutralization of all strong acids and strong bases is

(a) nearly the same (b) equal to zero

(c) not fixed (d) depends on nature of acid

51. Anacid is a compound that gives H" ions in water and a base is a compound that gives OH~
ions in water. This concept was given by :

(a) Lewis (b) Bronsted (c) Arrhenius (d) Lowry
52. Water is a liquid in ordinary condition because of

(a) Hydrogen bonding (b) Covalent bonding

(c) Ionic bonding (d) None of these
53. NH,OH becomes weaker in the presence of NH,C/ due to

(a) Ionization (b) Common ion effect

(c) Hydrolysis (d) Neutralization
54. The pH of 0.1 M NaOH solution will be

(a) 1 (b) 0.1 (c) 13 (d) 14
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55. End point is the sign of the
(a) Beginning of reaction (b) No reaction
(c) Partial initiation (d) Completion of reaction

56. Among the following which one is not a transition element ?
(a) Fe (b) B (¢) Cu (d) Au

57. The normality of the Glacial acetic acid is
(a) 17N (b) 12N (¢) 36 N (d) 16N

58. The normality of the pure and concentrated H,SO, is
(a) 1IN (b) 36 N (c) 10N (d 2N

59. The efficiency of adsorbent increases with the increase in
(a) Viscosity (b) Surface area (c) Surface tension (d) Number of ions

60. Physical adsorption is a process :

(a) Reversible (b) Exothermic (c) Irreversible (d) None of these
61. The compound which cannot reduce the Fehling solution is

(a) HCHO (b) HCOOH (c) CH,CHO (d) CH,COOH
62. Bayer’s reagent is

(a) Alkaline solution of KMnO, (b) Neutral solution of KMnO,

(¢) Anacidic solution of KMnO, (d) None of these
63. In the titration of oxalic acid with KMnO,, which indicator is used ?

(a) Phenolphthalein (b) Methyl orange

(¢) N-Phenylanthranilic acid (d) Self indicator, KMnO,

64. An organic compound is soluble in water. It gives positive silver mirror test and Molisch
Test. The compound is

(a) Glucose (b) Formic acid (c) Benzoic acid (d) Acetaldehyde
65. The order of increasing size of the following species is :

(a) K%, Ca*", CI-, S* (b) S?-,CI71, Cca®t K"

(c) K', Ca?*, 82, Cl! (d) Ca?*,K",CI-, S*

66. Benzaldehyde reacts with acetic anhydride in the presence of sodium acetate at 180 °C to
form one of the following :

(a) Cinnamic acid (b) Picric acid (c) Salicylic acid (d) TNT
67. Following reaction gives the main product :
CH,CH,CH, - OH — 1B,
(a) 2-Bromopropane (b) 1-Bromopropane
(c) Propanoic acid (d) Propane

68. Aqua regia is the mixture of one of the following :
(a) 3 part HNO, + 1 part HC/ (b) 2 part HNO; + 1 part HC/
(c) 1part HNO; + 3 part HCI (d) 1 part HNO; + 1 part HC/
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(c) KMnO, =1 31T fereram (d) T8 T HIS TE
KMnO, % H191 3Ta{eTeh 370 o STIHTIA H i |1 Haeh ST &1 8 ?
(a) T ORERIESELS]
(c) N-Tramgere-entifers et (d) & g2, KMnO,

Teh hleifeh it a § gershied ] | 78 erTeneh e faw adveqor afic difersr adveqor 2ar 2 |
EREIUCEE
(a) TR (b) hifteh 3T (c) S ITA (d) THefceass

ot &2 73 TS % TR, e HI A B
(a) K',Ca2*,Cl-, S* (b) S, CI-!, Cat, K*
(¢) K+, Ca?*, s, Cl-! (d) Ca?* K*, CI-, S*

Sofeegrss Aifeay wdiee i 3ufeafa o 180 °C A W UHifesh Taggzes & SAtufshan o = &
(a) Todfiss 3w (b) fuenfies a1t (c) Gfataferss s (d) AW
freferfiea srffsren =1 q&a 3ame 2 -

CH,CH,CH, - OH — 1B,

(a) 2-STHTIIo (b) 1-sHISIHA (c) SIS 3T (d) IU=
e ot = O O fopment fagor 2 v

(a) 3 WFT HNO, + 1 9T HC! (b) 2 9T HNO, + 1 9T HC/
(c) 19T HNO, + 3 9T HC/ (d) 19T HNO, + | W HC/
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69.

70.

71.

72.

73.

74.

75.

76.

77.

78.

79.

80.

81.

Which of the following polymer is not addition polymer ?

(a) Polyethene (b) Teflon

(c) Orlon

(d) Nylon-6,6

The orbital in order of increasing energy for a multi-electron atom is
(b) 1s,2p, 3s, 3d, 4p, 4d, 5s, 5p, 4f
(d) 1s,2p, 3s, 3d, 4p, 5p, 4d, 41, 5s

(a) 1s,2p, 3s, 3d, 4p, 5s, 4d, 5p, 4f
(c) 1s,2p, 3s, 3d, 4p, 4d, 4f, 5s, 5p

The relation between AH and AE is
(a) AE=AH + AnRT
(c) AH=AE + AnRT

(b) AH=AE — AnRT
(d) AH + AE = AnRT

Phenol reacts with conc- nitric acid to give

Benzene

(a) Anisole (b) Picric acid (c) Benzoic acid (d)

In benzaldehyde, all ring carbons, the carbonyl carbon and the carbonyl oxygen are
hybridized

(a) sp (b) sp’ (c) sp (d)

sp>d

The correct order of the strength of acidity of the following compounds is :

(a) HF <HCI/<HBr <HI
(c) HF >HBr > HC/> HI
The shape of NH; is

(a) trigonal pyramidal
(c) tetrahedral

Which ionic compound is not an example of cubic crystal system ?

(a) NaCl (b) CsCI

Tollen’s reagent is

(a) Moist Ag,0  (b) AgNO,+NH,OH (c) AgNO,/H"

(b) HI>HBr>HC/>HF
(d) HF <HBr < HC/<HI

(b) linear

(d) trigonal planar

(c) CaO

(d)

(d)

In Victor Meyer test, which of the following gives blood red colour ?

(|)H

() CH,CH,OH (b) H,C-CH-CH, (c) (CHy);~C—OH (d)

Night-blindness is caused due to the deficiency of

(a) Vitamin D (b) Vitamin E

(c) Vitamin A

How many sigma bonds are present in benzene molecule ?

(a) 6 (b) 12

Oxidation state of zero is exhibited by
(a) Fe(CO), (b) Na,Ni(CN),

©) 3

(¢) K;Cu(Cu),

82. The least count of burette is

(a) 0.1 ml (b) 0.01 ml (c) 1.0ml
83. The unit of specific conductance is

(a) ohm cm (b) ohm!cm (c) ohmcm~
Series-A 12
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(d)

(d)

(d)

(d)

(d)

CaCO,

None of these

None of these

Vitamin K

Cro,Cl,

10 ml

ohm™! cm™
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69. =1 T T I |1 T ANTICHS S5t TRl 7 7

(a) dicief= (b) TFEA (c) I (d) TIAM-6,6
70. Sg-3Solag AT o foTT Sl o Sigd §T 5T H hetsh &

(a) 1s,2p, 3s, 3d, 4p, 5s, 4d, 5p, 4f (b) 1s,2p, 3s, 3d, 4p, 4d, 5s, 5p, 4f

(c) 1s,2p, 3s, 3d, 4p, 4d, 4f, 5s, 5p (d) 1s,2p, 3s, 3d, 4p, 5p, 4d, 4f, 5s
71. AH 3R AE & &= G4 & :

(a) AE=AH + AnRT (b) AH = AE — AnRT

(c) AH=AE + AnRT (d) AH + AE = AnRT

72. BRI T A3k 3T T TR ek <A1 @
(a) TG (b) Tuerfies 3mt (c) SSTIgeh 3T (d) Sefi=

73. Sofcegrse ¥, gyl fr el sraifaet e 7 hraiel Jiais Sehitd 8ld 8

(a) sp (b) sp? (c) sp? (d) sp’d
74. = o3 T Afireni & 3T I HTHS FHH B
(a) HF <HCI < HBr <HI (b) HI>HBr > HC/ > HF
(c) HF >HBr > HC/> HI (d) HF <HBr < HC/ < HI
75.  NH, 1 31T 3
(a) i ffies (b) W (c) TISHeAD ™ (d) Frepofia aads
76. I 91 A Aftres g foredt 03 1 e TS B 7
(a) NaC/ (b) CsCI (c) CaO (d) CaCoO,
77.  Iier| IRt &

(a) 3% Ag,0 (b) AgNO, +NH,OH (c) AgNO,/H* (d) 378 9 1S T
78. fog i aamd i e AT A Wed g ?

C|)H

(a) CH,CH,OH (b) H,C - CH - CH,

(c) (CH,),—~C—-OH (d) 378 | IS T
79. Tl e (i) feraehl it T Ed @ 7

(a) faefim D (b) faerm E (c) faerfim A (d) faerfm K
80. o 370 # fope s B E 7

(a) 6 (b) 12 ©) 3 (d) 4
81. I FTaEleRu Frere ferer fems eft 2

(a) Fe(CO); (b) Na,Ni(CN), (¢) K;Cu(Cu), (d) CrO,Cl,
82. ST 1 YHqH AT (TIAHH) B

(a) 0.1 fireft. (b) 0.01 freft. (c) 1.0 foeft. (d) 10 faeft.
83. fufyre s hat 1 AR B

(@ sma ) FE (o) dmE (d) !
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84. Which reagent is used in the saponification ?
(a) NaOH (b) HCI (c) NH,C/ (d) CH,OH

85. Which one is the correct order of basic strength ?
(a) C,HsNH, <C,HsNH, < (C,H;), NH <NH,
(b) C,H;NH, <NH, <(C,H), NH <C.H,NH,
(¢) (C,Hs), NH> C,H;NH, > NH,;>C,H;NH,
(d) NH;>C,HsNH, > (C,Hs), NH > C,H;NH,

86. In Lucas test, an alcohol reacts immediately and gives insoluble chloride, the alcohol is

(a) CH,OH (b) CH,CH,OH (c) (CH,),CHOH (d) (CH,);COH
87. Paper chromatography is a type of

(a) Adsorption chromatography (b) Partition chromatography

(¢) Column chromatography (d) Thin layer chromatography
88. Reagent that can distinguish between benzaldehyde and acetophenone

(a) lodine and Sodium hydroxide (b) Tollen’s reagent

(c) Lucas reagent (d) Both (a) and (b)
89. A compound that does not give a positive test in Lassaigne’s test for nitrogen is

(a) Urea (b) Hydrazine (c) Azobenzene (d) Phenyl hydrazine
90. Ninhydrin test is given by

(a) Proteins having proline (b) Proteins having a-amino acid

(c) Proteins having hydroxyproline (d) None of these
91. The colour of o-nitrophenol

(a) Yellow (b) Orange (c) Pink (d) Blakish
92. The most suitable method of separation of 1 : 1 mixture of ortho and para-nitrophenol is

(a) Chromatography (b) Crystallization

(c) Steam distillation (d) Sublimation
93. What is the main product of the given reaction ?

NHCOCH3
Conc. HNO,
> e ?
Conc. H,S0,

(a) o-nitroacetanilide (b) p-nitroacetanilide

(c¢) m-nitroacetanilide (d) Benzoic acid
94. What is the product of the following reaction ?

Alkaline
KMnO,
2C(H, - CH, + 30, T) ?

(a) Salicylic acid (b) Benzoic acid (c) Benzene (d) Benzyl alcohol

Series-A 14 PDC



84. TISTRTUl H hid |1 ARyehiish ST BT R ?

(a) NaOH (b) HCI (c) NH,CI (d) CH,0H
85. 1T U hI hiH AT TR ShH & 7

(a) C,H,NH, < C,HNH, < (C,H,), NH < NH,

(b) C,HNH, < NH, < (C,H;), NH < C ,H,NH,

(¢c) (C,H,),NH>C,H,NH, > NH, > CHNH,

(d) NH,> C,HNH, > (C,H,), NH > C(H,NH,

86. IHIE TRV T Uk Ueehlaiol IMerm & 5 st STgereficl Feliigs <l 8, o8 Ueohlaiol & :

() CH,OH (b) CH,CH,OH (¢) (CH;),CHOH  (d) (CH,),COH
87. UTL ShIHITHI, Ush ThR hT B

(a) JTSTUT ShIHSITH ORELISEEICEPIET]

(c) ThHicTH SHIESITS! (d) Taelt Td SIS

88. 3AfYRHeh Sl Solfcegrss 3T THIGHH H fadie o Thar 8, 98 8
(a) JATATSH IR Aifeam grggiadss (b) efeig Tfreptes

(c) T JAfirehrh (d) (a) T (b) TH
89. oG wheru § U Aifires SN ATEISH I U TOEI TEl AT 8, T8 R -

(a) Ff (b) BTSN (c) VSIS (d) FHTEA BRGNS
90. TeTsfeT wiemr feraes gru feam smaT 2 2

(a) T S el TEar 2 | (b) T SN o-THT 37 Tl & |

(c) T S EEg e aIeh= @ & | (d) 3T | i T
91. 3AT-TZIHHIA T TT 7

(a) e (b) rft (c) Teeht (d) hretr @1
92, 3TN I A-TEIBIATA o 1 : 1 THro1 Bl 3167 i <ht wad 3ugerd fafy 2 -

(a) SHIECTE! (b) Tsheecfientor (c) T AT (d) e
93. & TE MR h1 T I AR 7

NHCOCHj;
Conc. HNO3
> e ?
Conc. HZSO4
(a) o-TEgIHIHATES (b) p-qls;‘lqélé:ilalsg
(¢) m-TEguEeieree (d) SSiseh 3
94, fam= srfufsramsmr e w2 7
Alkaline
KMnO4
2CHg ~ CHy + 30, —— 2
(a) fetflrfersh 31t (b) isftaeh 37 (c) SiSf (d) SSSS Ueehlglel
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9s.

96.

97.

98.

99.

100.

101.

102.

103.

104.

105.

106.

107.

Which one is the strongest acid among the following ?

(a) H,SO, (b) HCIO, (c) H,SO, (d) HCIO,
What is the one letter code for Tryptophan ?

(@) T (b) Y (c) W (d M

In chromatography, the value of R, is

(a) always less than 1 (b) always greater than 1

(c) equal to zero (d) None of these

Mathematically, Henry’s Law cannot be expressed as : (¢ is the concentration of the gas in
solution and P is the pressure of the gas) :

(a) ccP (b) c=kP (¢) k=c/P (d) k=cP
Lucas reagent is
(a) Anhydrous ZnCl, and conc. HCI (b) Anhydrous ZnCl, and conc. HNO,
(c) Hydrous ZnCl/, and conc. HNO, (d) Hydrous ZnC/, and H,SO,
The IUPAC name of (CH,);CCH,Br is
(a) 2-bromo-2, 2-dimethyl propane (b) 1-bromo-2, 2-dimethyl propane
(c) 1-bromo-2-methyl butane (d) 1, 2-dibromo propane
Which is not an example of double salts ?
(a) Mohr’s salt (b) Potash alum (c) Carnalite (d) Ferrous sulphate
Charles’ Law is mathematically expressed as
1
(a) VOCF (b) PcT (c) VT (d Von
Which of the following test is related to carbohydrates ?
(a) Ninhydrin test (b) Lucas test (c) Molish test (d) Hinsberg test
Which substance is not required to prepare Hexammine Nickel (IT) chloride ?
(a) Ammonium Chloride (b) Nickel Chloride
(c) Ammonia Solution (d) Ethanol
Upon hydrolysis sucrose gives equimolar mixture of
(a) D-Glucose and D-Mannose (b) D-Glucose and D-Galactose
(¢) D-Glucose and D-Fructose (d) D-Glucose and D-Ribose

Which of the following is an example of essential amino acid ?
(a) Histidine (b) Tyrosine (c) Glycine (d) Glutamine

For a certain first order reaction t, is 100 sec., how long will it take for the 75% reaction to
2

be completed ?

(a) 100 sec. (b) 300 sec. (c) 200 sec. (d) 400 sec.
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9s.

96.

97.

98.

99.

100.

101.

102.

103.

104.

105.

106.

107.

PDC

=1 1 9 9 T Teeidy 3T B ?

(a) H,SO, (b) HCIO, (c) H,SO; (d) HCIO,
foeeith o foTu Ueh AE IS TR 7

(@ T (b) Y () W (d M
SHIHEIATH! H R 1 7H

(a) Wed | AHAEATE | (b) Hed 1 & Mok BT & |

(c) T L BT 2 | (d) 3T 8 1 T

I T &1 TR &9 5 e A8 L Thd &, UH (81 ¢ 719 i foer | |igar 8 3R P 9
<hl q9) :

(a) ccP (b) c=kP (c) k=c/P (d) k=cP
e A B

(a) TSI ZnCl, 3R |5 HC! (b) 5/ ZnCl, 3R |15 HNO,
(c) St ZnCl, 3R &5 HNO, (d) Seft@ ZnCl, 3 H,S0,
(CH,);CCH,Br %I [UPAC M & :

(a) 2-STH1-2, 2-STETHeTSS U (b) 1-Tm1-2, 2-ST3fHeTSe U
(c) 1-smI-2-fremse oA (d) 1, 2-ST3sH 91U

T4eh AT T hF 1 ISTE 2] B ?

(a) HIELSEW  (b) W T (c) hrHeTge (d) ™ Hethe
e T o) T ®Y o wed i 8

(a) Voc% (b) Poc T () VT (d) Von
e 4 @ 9 91 vhierr wrEigEee @ Tl § 7

(a) Tersfem udeor (b) T Te

(c) Tiferst wheqor (d) Tewerent whemr

BFETUE Frehe (1) FelltIgs S o g 9 o1 e erd 3Trevaes 721 § ?

(a) I FAES (b) et FTISS

(c) I fererm (d) TAATA

ST ITTEH T hid kT TrHIer fsmgar g, 98 &

(a) D-Te[I TUT D-891E (b) D-TC[hd TUT D-Teiae ™

(c) D-TehiE aUT D-hae | (d) D-IE U1 DS
Fr=faRea o s stevaes WA 3 1 I E ?

(a) fefgm (b) TS (c) TS (d) TIHH

ferell wep wem whife SAfioRa o fo1q 1, , 100 HhUS &, 75% Jfsiisha qui g o feru fenae ww
2
T ?

(@) 100%HS  (b) 300FFS (c) 200 FHE (d) 400 FvE
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108. The process by which plants form glucose, is called

(a) Respiration (b) Photosynthesis  (¢) Glycolysis (d) Polymerization
109. Which of the following is an example of an artificial sweetner ?

(a) Histamine (b) Morphine (c) Aspartame (d) Penicillin
110. Upon basic hydrolysis a fat or an oil gives

(a) Glycerol and Soap (b) Glycol and Soap

(c) Ethanol and Soap (d) Methanol and Soap
111. Vulcanization of rubber is done by

(a) Sulphur (b) Oxygen (c) Nitrogen (d) Hydrogen
112. Which of the following is the apparatus for differential extraction ?

(a) Separatory funnel (b) Porous sheet

(c) Packed column (d) Electric motor

113. In crystallization, the compound dissolved in a solvent is more soluble at

(a) low temperature (b) very low temperature

(c) higher temperature (d) room temperature
114. Which base is absent in DNA ?

(a) Adenine (b) Guanine (c) Cytosine (d) Uracil
115. The monomer of natural rubber is

(a) Chloroprene (b) 1, 3-Butadiene

(c) Isoprene (d) Styrene

N
116. How much Ferrous Ammonium Sulphate required for preparing 25 250 ml solution ?
(a) 4525¢ (b) 3.922 ¢ (c) 2.525¢ (d) 7.525¢g

117. Sulphuric acid is used for determination of melting points and boiling points of organic
compounds because, it has

(a) very low boiling point (b) very high boiling point

(c) strong acidity (d) None of these
118. Which one of the following is a biodegradable polymer ?

(a) Nylon-6 (b) Polyethene (c) Polyvinyl chloride (d) Cellulose
119. Which one of the following gives carbylamine test ?

(a) @NOz (b) H;CNH, (¢) (H;C),NH (d) (CH4);N
120. Cholesterol is a

(a) Glyceride (b) Wax (c) Steroid (d) Fat

121. The monomer of Nylon 6, 6 is/are
(a) Tetrafluoroethene
(b) 1, 3-Butadiene
(c¢) Phenol and Formaldehyde
(d) Hexamethylene diamine and Adipic acid
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108.

109.

110.

111.

112.

113.

114.

115.

116.

117.

118.

119.

120.

121.

PDC

18 sk & g0 1Y o[k | SHTd 8, haddl 8

(a) T (b) THNI-TTAT  (c) TARRCAEHE  (d) FgAh R
frferfaa o i Him w1 e g 7

(a) Teeefim (b) HifhT (c) TEen (d) uffafem
ST STt 3ATEEA T Ueh @] 37U Ueh ded <l & -

(a) Troreriat qem areq (b) TSI TUT HTG

(c) CETet T T (d) BTE e T

TeR T Toeh 10T 578 g R ST 2, 98 2 -

(a) HeH (b) SATHTSH (c) g (d) TTEESH
Fraferfiea # @ =i @ faid) freemgor & fou sy g 7

(a) GoFROIHT  (b) fosfea (c) Uere icHH (d) selfergsh HIeT
Toreeefionto # foretrres T et 2ifiTes fohe | W 31fires gesiieT T g 2

(a) Y ATIHE (b) SEARAAUAN  (c) I ATIHN (d) L A
DNA # &9 H1 &Teh JT{IfId g & ?

(a) Ve (b) T ORELIE (d) FfEa
Teh{cieh o %1 TheTdh & :

(a) FARISH (b) 1, 3-FTETRA (c) TgETSH (d) =Tt

250 fireft, 5 < sk 1 faer SR 35 ot e ST w1 frar w7
(a) 4.5257. (b) 3.9227m. (c) 2.5257m. (d) 7.5257m.

HTeifeh AT o TeH IR FFLUATH HIRT § ToREh 37 Sl TAT § G 7, Fifh
FERI[h 3T I @

(a) Sgd A FTLH (b) 9gd 3= FYTH

(c) ST TR (d) 3 ¥ 15 TE

fafafga § @ o a1 v Sa-ffemf ages 2 7

(a) TTIAH-6 (b) Tictief= (c) UTchoTEd s (d) Seqerd
e 8 | & | HrfelereHE wlau car @ ¢

(a) @NOZ (b) H,CNH, (c) (H;C),NH (d) (CH,),N
HTIA & Th

(a) forates (b) <@ (c) WHige (d) =&
TSAT 6, 6 1/ Teheleh 8/a

(a) CLTHRISTCLH (b) 1, 3-SgTETA

(c) el qUT Bilifcesss (d) BeEmRrel gt qen Ufsfie s
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122. The product of the reaction is what ?

O
I (i) LiAIH,
CH,;-CH,-C-CI (i 1,0
(a) Propane (b) Propanaldehyde (c) 1-Propanol (d) Propanoic acid

123. The correct structure of Benzyl alcohol is
OH CH,OH CH3 OH

OH CH3 CH3
(2) (b) (©) (d)

124. Following reaction gives the product :

0]
I AlCI,
Benzene + CH, - C - Cl— ——— ......... ?
(a) Vanilline (b) Benzoic acid (c) Acetophenone (d) Phenyl hydrazone

N
125. How much oxalic acid is required for preparing 10 250 ml solution ?
(a) 2.505 gm (b) 2.575 gm (c) 1.575 gm (d) 3.525gm

126. Molality is
(a) No. of moles of the solute in one litre of solution
(b) No. of moles of the solute in one kg of solvent
(c) No. of moles of the solute in 10 kg of solvent
(d) None of these

127. Which aldehyde will give Cannizaro reaction ?

(a) CH,CH,CH,CHO (b) CH,-CH,CHO

(¢) (CH;);C-CHO (d) (CH;), CH-CH,CHO
128. Aldol condensation would not occur in

(a) CH,CHO (b) CH,CH,CHO (c) HCHO (d) CH,COCH,
129. The a-Helix of protein is a common form of

(a) Primary structure (b) Secondary structure

(c) Tertiary structure (d) Quaternary structure

130. The salt undergoes cationic hydrolysis in water, the pH of the resulting solution would be
(a) equaltoseven (b) lessthanseven  (c) greater than seven (d) equal to zero

131. Which one of the following is not a radical of the III group basic radicals ?

(a) Fe3* (b) AP* (c) Ba?* (d) Cr3*
132. Which one of the following compounds gives fastest rate of dehydration ?

(a) Primary alcohol (b) Secondary alcohol

(c) Tertiary alcohol (d) Methyl alcohol
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122. AR hI S TR 7

(ﬁ (i) LiAH,
CHy ~ CH, = C = Ol — s ?
(a) IUA (b) WHfeesEs (c) 1-SoHTe (d) TTUATEH ITA
123. S=I15cA UcohlalcT <h! &l ST & ¢
OH CH,OH CHj3 OH

OH CHj; CHj3
(a) (b) (c) (d)

124. = & 8 Affora, S s B -

0
, I AIC,
Ff+CH,-C—Cl——— ... ?

(a) offem (b) SSIgh 3TFA (c) THITHAH (d) B3 BEGSH
125. 250&@,%ﬁmwﬁwmﬁ%mmaﬁaﬁmmwﬁm?

(a) 2.5057. (b) 2.5757. (c) 1.575m. (d) 3.5257.
126. Hieterdt &

(a) Tordl ferota 6t uep it faerem o Sufera weti <t e

(b) 1 Toretiam faermres o Sufedra foor & Aiet <t T

(¢) 10 foretmy feretrres & Sufera foeta & Aiett 6t g

(d) 3T 8 HIE T
127. M 91 Tfeegss shivemy stfifsran em 7
(a) CH,CH,CH,CHO (b) CH, - CH,CHO
(¢) (CH,); C—CHO (d) (CH,), CH - CH,CHO
128. Tceld G fopud & grm ?
(a) CH,CHO (b) CH,CH,CHO  (c) HCHO (d) CH,COCH,

129. T T o-fTe fepHeht TTamur &9 8 ?
(a) WA =T (b) fgdiaes @ (c) qcre ET=T (d) =g s
130. 9T H Te01 T I St ITTEH BT 8, A A fereta 1 pH &I

(a) 7 % SR (b) 7HH (c) 7| (d) 0 SR
131. Fr=rferfaa & & s Horeh e gereni o 111 aqg § 72 8 7

(a) Fe3* (b) AP* (c) Ba?* (d) Cr3*
132, T # 9 W = AT, fearsgem stffsran o ifa & qm 2

(a) Serfire Yeenigial (b) Tacfre Ueepiaiar

(c) TR Yeehiglcl (d) THeTset Ueshiglel
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133.

134.

135.

136.

137.

138.

139.

140.

141.

142.

143.

144.

145.

Watermelon model of an atom was given by

(a) J.J. Thomson (b) Henri Becqueral (c) Marie Curie (d) Rutherford
The unit in which wave number is measured :

(a) Hertz (b) nano meter (c) sec’! (d) cm!

The type of bonds present in sulphuric acid molecule is/are

(a) only covalent (b) ionic and covalent

(c) coordinate and covalent (d) coordinate, covalent and ionic

When an arsenic atom is introduced in place of silicon in crystal lattice, the conductivity

(a) increases

(b) decreases

(c) remains the same

(d) sometimes increases and sometimes decreases

Degree Celsius (°C) and degree Fahrenheit (°F) are related as

(a) °F = % (°C)+32(b) °F = % (°C)+32 (c) °F= % (°C)+273  (d) °F= °C+273

Atoms with same atomic number and different mass are called
(a) isobars (b) isomers (c) isotones (d) isotopes

Hydrogen bond is strongest in

(a) F_H ...... O (b) O_H ...... S (C) O_H ...... N (d) F_H ......

Which one is not the element of s-block in periodic table ?
(a) K (b) Al (c) Ca (d) Ra

The carbon-hydrogen bond length is shortest in
(a) Ethane (b) Ethene (c) Ethyne (d) Methane

How much gm of oxalic acid weigh for the preparation of N/30 standard solution of oxalic

acid in 250 ml flask ? (oxalic acid M.W. = 126)

(a) 0.525 gm (b) 0.400 gm (c) 0.305 gm (d) 0.500 gm
Bond order in N, is
(a) 1 (b) 2 (c) 3 (d) 4
Treatment of aniline with Bromine water produces
(a) 2,4, 6-Tribromoaniline (b) Bromobenzene
(c) ortho and para bromoaniline (d) N-bromoaniline
TUPAC name of
CH,
|
H3C—(|J—CH2—CI
CH,
(a) 1-chloro-2, 2-dimethyl propane (b) 2-chloro-2, 2-dimethyl propane

(c) I-chloro-2-trimethyl propane (d) None of these
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133.

134.

135.

136.

137.

138.

139.

140.

141.

142.

143.

144.

145.

PDC

ATV <hT et ATeet fere femm o 7

(a) 3. gMHET  (b) & S O (d) g
T TEAT 1 T @ -

(a) & (b) JAmfiex (c) Tepvg! (d) Teft-!
FERh 3T 3] H JUFEAT S o ThR &

(a) o HEEASTH (b) ST qeT HEEaS

(c) IUHEHASIS qUT TEaIISTh (d) SUHEHIISTh, TEEAISTH Ul RS
Tet foheeet STetes o ffotehd o T W STTEfeh TRaTo] JaIsT U™ STl 8, O FTetehd :
(a) S@l2 | (b) TR |

(c) THH &R | (d) i et g aun heft et 7 |
feft afcemm (°C) Ten feift wRAETEe (°F) #1 e w9 8

(a) °F =% (°C)+32 (b) °F= % (°C)+32 (c) °F= % (°C) +273 (d) °F= °C+273

T IHTY] HE&AT qT f9=1 o9 aTel TRHTY] hEelld & -
(a) FHATIH (b) FHTEIE! (c) EH=I® (d) THEAT®
BIgSIoH &4 fhad Jeeaq ® 7
(a) F_H ...... O (b) O_H ...... S (C) O_H ...... N (d) F_H ...... F
I ROt o s-GUE | i |7 dvel &1 & 7
(a) K (b) Al (c) Ca (d) Ra
e BEGISH STeY TaTg 350 Ted A & :
(a) 38 (b) 3dH (c) 3UTE (d) #I
250 Toreft o woITEes o SATafeTeh 37T % N/30 o HHeh o™ sAH o foTt fopaw um stidiferes
37T 1 ettt 7 (SATedifeteh 3Tt 319 R = 126)
(a) 0.5257. (b) 0.400 7. (c) 0.3057. (d) 0.500 7.
N, H &9 54 &
(a) 1 (b) 2 (c) 3 (d) 4
el it s o O fhe v WA R
(a) 2,4, 6-2TgsaNfef (b) SIS
(c) 3t 3 AU stefe= (d) N-sefaefa
CH,
H3C—(|J—CH2—CI$TIUPAC:HH%:
ca,
(a) 1-9AI0-2, 2-ST3HeTSS U (b) 2-FA-2, 2-STEHAUTSA TU=
(c) 1-sA-2-grgfiemser S (d) 378 A IS T
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146. Saccharides are known as

(a) Protein (b) Fat (c) Carbohydrates (d) Vitamins
147. Which one of the following compound has lowest anion to cation ratio ?

(a) LiF (b) NaF (c) Csl (d) CsF
148. Benzene diazonium chloride can be converted into fluorobenzene using :

(a) HBF, (b) Cu/HF (c) CuF (d) F,
149. Which one of the following molecule/ion is diamagnetic ?

(@) O, (b) O] (c) 02 (d) O}
150. The oxide which is amphoteric :

(@) H,0 (b) CaO (c) ALO, (d) CL0,
151. Which one of the following has smallest size ?

(a) Na® (b) Mg2* (c) Ne (d) 0%
152. Glycerol is

(a) Dihydric alcohol (b) Trihydric alcohol

(c) Monohydric alcohol (d) Tetrahydric alcohol

153. Which one of the following metal is present in chlorophyll ?
(a) Na (b) K (c) Mg (d) Cu

154. Enzymes are
(a) Fat (b) Lipid (c) Protein (d) Metal

155. Molecular formula of diborane is
(a) B,Hg (b) B;H, (c) C¢Hg (d) B,H,

156. Heating oxalic acid with conc. H,SO, gives
(a) CO (b) CO, (c) CO+CO, (d) Ci,

157. Which one of the following atom does not have neutron ?
(a) He (b) C (c) H (d) Ne

158. Which property of an element is always a whole number ?
(a) Atomic weight (b) Equivalent weight (¢) Atomic number (d) Atomic volume

159. Glass is
(a) Supercooled liquid (b) Metallic crystal
(c) Molecular crystal (d) Covalent crystal

160. Write IUPAC name of :
CH;-CH-CH - CH - CH,0H

| | |
C/ CH; CH,

(a) 2-chloro-3, 4-dimethyl pentane-5-ol  (b) 4-chloro-2, 3-dimethyl pentane-1-ol
(c) 4-chloro-3, 2-dimethyl pentane-1-0ol  (d) None of these

Series-A 24 PDC



146. SHTEEH I ST 14T &

(a) U (b) @@ (c) HEREIH (d) foerfira
147. T=fofaa o & fra ifies # TR - 9= SUd <J0a9 ST e ?

(a) LiF (b) NaF (c) Csl (d) CsF
148. TFHHT TN Shieh ST SISUSN-AH FARISS ol FoARISS(H H Yialdd b3l ST Tehdl & 7

(a) HBF, (b) Cu/HF (c) CuF (d) F,
149. fr=fefaa svysma § @ &9 a1 yfogedha 8 7

(@) 0, (b) O, () 03 (d) 0,
150. i @1 ATedTss v=eHi g ?

(a) H,0 (b) CaO (c) ALO, (d) CLO,
151. T o forueht TR a8 BT BT 8 7

(a) Na® (b) Mgt (c) Ne (d) 0
152. fomRia s :

(a) STEETSIge Ueehlgiet (b) ZTEET3igh Ueehigiet

(c) HITETEgeh Teehiarer (d) CgTeTSigeh Uewhraiel
153. T o & 9 1 91q FARITSA A BIaT ] 7

(a) Na (b) K (c) Mg (d) Cu
154. TTEH B &

(a) =& (b) fefe (c) S (d) =g
155. STSSIA o1 10T T B

(a) B,H, (b) B,H, (c) CcH (d) B,H,
156. HATedfcte 317t |15 H,SO,, o |1 TH i AT & -

(a) CO (b) CO, (c) CO+CO, (d) Cl,
157. Frferfiga o & fore ooy S T 24 8 2

(a) He (b) C (c) H (d) Ne

158. T %1 hIF T 01 Fed Tsh YUITeh Il & ?

(a) FEHR  (b) TedTHl W (c) THTY SHHTh (d) TRETY] TR
159. i< 8la1 8

(a) FARfifaagsm (b)) afas rea (¢) s firea (d) HeaaS e

160. CH, —CH — CH — CH — CH,OH %I [UPAC T &

| | |
C/ CH; CH,

(a) 2-FARI-3, 4-STEMHATEA U=eH-5-3TA  (b) 4-FA-2, 3-STEMUTEA U=eH-1-37TeA
(c) 4-FAR-3, 2-STHATEA UmeH-1-3ATd  (d) 98 T hig &1
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161. Which type of filter paper is used in paper chromatography ?
(a) Butter paper (b) Whatmann filter paper
(c) Gilmann filter paper (d) Colmann filter paper

162. Which type of monosaccharide is obtained on hydrolysis of cellulose ?
(a) Fructose (b) Ribose (c) Glucose (d) Galactose

163. The main product formed in the following reaction is :

@ CO,HCI .
Anhydrous A/Cl;/CuCl
COOH CO-CI

Cl CHO

164. The reaction of an arenediazonium salt with a cuprous salt is called
(a) Rosenmund reaction (b) Cannizaro reaction
(c) Gattermann reaction (d) Sandmeyer reaction

165. Which of the mentioned technique is helpful and used to separate two liquids ?

(a) Sublimation  (b) Distillation (c) Filtration (d) Crystallization
166. Glucose is known as :

(a) Aldopentose (b) Ketopentose (c) Aldohexose (d) Ketohexose
167. Which one of the following is not a constituent of Soda Glass ?

(a) SiO, (b) CaSiO, (c) Na,SiO, (d) H,SiO,
168. Sodium or potassium salts of fatty acids are called :

(a) Terpene (b) Protein (c) Soap (d) Carbohydrate
169. General formula of polysaccharide is :

() CHy0, (b) (CsH,4Os), (€) (CgH¢Og)y (d) (CsH,4Os),
170. Who proposed that the structure of DNA is double helix ?

(a) Lewis and Pouling (b) Watson and Crick

(c) Howarth and Hirst (d) Tallence and Tenrate

171. Nucleoside contains :
(a) Base — Sugar (b) Base — Phosphate
(c) Base — Sugar — Phosphate (d) Sugar — Phosphate

172. Which one of the following is also called milk sugar ?
(a) Glycogen (b) Maltose (¢c) Sucrose (d) Lactose

173. Hormones are :
(a) Catalyst (d) Messenger

(b) Enzymes (c) Inhibitor
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163.
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165.

166.
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T SIS TITRT | foh® T o1 ftheet YT Iu fehat ST @ 7

(a) T UR (b) aeHA fheet T (c) FremH fheet U (d) i fheet IW
YA o STl T T FohE TehR <hl Tt ITed &Il & 7

(a) wERE (b) T (c) ™ (d) TerwE
freaferfga srffsren & s aren g&a 3 2 -

CO, HCI
frstet AICL/CuCl

COOH CO-CI/

Cl CHO

RIIH TG b 1Y WHESTSUS-H TavT 1 HATTRT hgard! & -

ORELLEIRIED DESIEEUSIEIED

(c) TTeTH Jfferan (d) Srsumr rfferan

Ifcetftad dehrieh H | i €T Tohrieh &l 5a1 ol JUeh i H TERIh TUT IUAT hl Tl & 7
(a) ST (b) ATEEH (c) Tr=rga (d) fsheecfientor

TEISh I ShI ThET SITAT &
(a) TR (b) I (0) TErRTEE (d) Firedra
frafarfiaa & & % a1 e e %1 T gk TE 7 7

(a) SiO, (b) CaSiO, (c) Na,SiO, (d) H,SiO,
TH AT o Tifeaw e T fRm e o wad 8

(a) @i (b) WA (c) ®1gA (d) reTErEge
UTeATEhSS T AT T 8

(@) CH,0, (b) (CeH,05), (¢) (CeH,(04), (d) (CsH,,05),
DNA i fgshefera TtemT i foha sretfera fobam o 2

(a) 38 aAT ife (b) aTeE qAT fsheh

(c) BT T TR (d) otE qen e

JfFerarge § aftferd 8

(a) ¥R — IhT (b) &R — BIThE

(c) ¥R — LT — IThS (d) ST — BIEhHS

frferfaa & = = g woh oft seardt & ¢

(a) TEATEHISH (b) HIe2E (c) T (d) ™
FHM B 2 -
(@ RF ) TR (o) T (d) HeEIEH
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174.

175.

176.

177.

178.

179.

180.

181.

182.

183.

184.

185.

186.

The boiling point of water on Celsius and Kelvin scale are respectively

(a) 373,273 (b) 0,273 (c) 273,373 (d) 100,373
Which one of the following formula is correct representation of Potash alum (Phitkari) ?
(@) K,SO,Cry(SO,); - 24H,0 (b) K,SO,AL(SO,), - 6H,0

(c) K,SO,AL(SO,); - 24H,0 (d) K,SO,Al,(SO,), - 10H,0

Unit of R; value in chromatography is

(a) gram (b) cm (c) litre (d) No unit

At higher altitude

(a) melting point of solid increases (b) boiling point of liquid decreases

(c) boiling point of liquid increases (d) no change in boiling point

The sugar molecule present in nucleotide is

(a) Triose (b) Tetrose (c) Pentose (d) Hexose

Which one of the following is a neutral amino acid ?

(a) Arginine (b) Histidine (c) Glycine (d) Lysine

In the estimation of halogen by Carius method, the halogen of the organic compound is

converted into
(a) Silveroxide (b) Silver sulphate  (c) Silver nitrate (d) Silver halide

Which method is used to separate aniline water mixture ?
(a) Sublimation (b) Steam distillation
(c) Distillation under reduced pressure (d) Crystallization

The product formed in the following reaction is :
NO,
Sn, HC/
NH>» Cl N»C/

@ 2@ 0@ «©

Carbylamine reaction is used in the test of

(a) Primary alcohol (b) Primary amine

(¢) Secondary alcohol (d) Secondary amine

A polymer with an amide linkage is known as

(a) Nylon 6, 6 (b) Teflon (c) Bakelite (d) Terylene
In propanone there are

(a) nine m-bonds and one c-bond (b) nine o-bonds and one n-bond
(c) eight o-bonds and two m-bonds (d) eight m-bonds and two c-bonds
The mobile phase in chromatography can comprise of which of the following ?

(a) Liquid or solid (b) Gas or liquid (c) Solid or gas (d) Liquid only
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174.

175.

176.

177.

178.

179.

180.

181.

182.
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186.
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fcaad auT Sfea 90 T St o FHUTH &, THA:

(a) 373,273 (b) 0,273 (c) 273,373 (d) 100,373
frerferfia & i a1 g dere e (Rbeehdl) 1wl Pre & 7

(a) K,S0,Cry(SO,), - 24H,0 (b) K,SO,AL(SO,); - 6H,0

(©) K,SO,AL(SO,), - 24H,0 (d) K,SO,AL(SO,); - 10H,0
SRR | R, WH 1 W el

(a) 7™ (b) Eret (c) ofiet (d) TS AT &
3foreh ST W

(a) BF T T FedT & | (b) Td T T T B |

(c) B9 I FATH ST g | (d) FaeTh H IS qiEd &l a1 2 |
SyfFersTieTse § g T 3 2 -

(a) 3T (b) <@ (c) U (d) TFEE
Frefafea 9 @ i o1t Seree wiF s B ?

(a) IR (b) fafedim (c) TATEEHR (d) <gEE

Ffeara i gr Beiis % HTehor § e ik o gelior o e aiafdd fom a2 2
(a) Free stfHaTSS (b) foream @ehe (c) Foreatmege (d) Freert getrgs
Ufrefia S firsrr st gereh s o fore fopa farfr 61 s foran Stran & 2
(a) SEITA (b) W9 3THEA (c) T & W amEeH (d) Tereeefisrtor
Frafefaa srfufsrean & s g sce & -

NO,

Sn, HC/

NH, N»C/

Cl
@ O «@ @

Hifsierie srffsman fees wheo § wyed gl 2, T8 § -
(a) STIfEeh Teahlglied (b) STfHeh THI (c) Tetae Tesbreicr  (d) faciass i

THTSE S aTct Sgeteh i hal STl &

(a) AT 6,6 (b) THAM (c) SehelTse (d) e
T A #

(a) T 1-9Y TYUT T o-§Y (b) T o-9Y AT Th 1-9Y

(c) 33 -89 qATQl 1-9Y (d) 373 n-99 YT q 5-9Y

IR H fr=ferfad 5 9 s g1 mrfasfier greeen | gftfed gl gdr g ?
(a) FAFUAMIE (b)) T AIAGT  (¢) IMIFFAMAE  (d) A5
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187. Which of the following does not belong to the category of natural polymers ?

(a) Cellulose (b) Starch (c) Rayon (d) Protein
188. In which of the following test Rochelle salt is used as a reagent ?

(a) Tollen’stest (b) Benedict test (c) Fehling test (d) Wolff kishner test
189. Which one of the following is a semi-synthetic polymer ?

(a) Polyethylene (b) Nylon 6, 6 (c) Rayon (d) Buna-S
190. Vitamin C is

(a) Lactic acid (b) Ascorbic acid (c) Citric acid (d) Picric acid
191. The non-stick layer of kitchenware contains

(a) Teflon (b) Dacron (¢) Nylon (d) Acrilan
192. Bakelite is

(a) Addition Polymer (b) Elastomer Polymer

(c¢) Thermoplastic Polymer (d) Thermosetting Polymer
193. The S in Buna-S refers to

(a) Sulphur (b) Styrene (¢) Sodium (d) Salicylate
194. The stationary phase in paper chromatography is

(a) Silica (b) Calcium carbonate

(c) Water absorbed on the paper (d) Organic solvent
195. The most suitable technique for the separation of the mixture of naphthalene and urea is

(a) Filteration (b) Crystallization (c) Sublimation (d) Distillation
196. The most commonly used developer in paper chromatography is

(a) Sugar (b) Iodine (c) Naphthalene (d) Acetic acid
197. Dacron is an example of

(a) Polyamides (b) Polypropenes (c) Polyesters (d) Polyacrylonitrile
198. Which chemical is used in boring the Cork ?

(a) Toluene (b) Ethanol (c) Phenol (d) Glycerine

199. Fractional distillation is used when
(a) difference of melting points of two solids is less.
(b) difference in boiling points of two liquids is more.
(c) difference in boiling points of two liquids is small.
(d) difference in melting points of two solids is large.

200. The correct order of acidity of following compounds is :
(a) CH,COOH > CH,CH,COOH > C;H;COOH > C,H;CH,COOH
(b) CH,CH,COOH > CH,COOH > CH,COOH > CH,CH,COOH
(c) CcH,COOH > C H;CH,COOH > CH,COOH > CH,CH,COOH
(d) CH,CH,COOH > CH,COOH > C.H,CH,COOH > C,H,COOH
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187. frAfetfiad o & b4 @1 STehfeh sgete o1 Joft # & smar g 7
(a) HeTE (b) & (c) & (d) SEH
188. TrAfarRaa & @ foram UIeT o1avT o6t U 3Afrehtieh o &9 § I fehaT AT 8 2
(a) TTOH IO (b) SAfSR TOTT  (c) iewT Tdiero (d) o Terart wieror
189. freferiaa & @ o &1 U SAefEvelyd S5 § 7
(a) TieACfyeld  (b) e 6, 6 (c) @A (d) S-S
190. fefim C 2
(a) Wadh A (b) UGhitash a0A  (c) Tafees sma (d) fufshep 310
191. 5d= sl 7 farer aref) (77— feeeh) s o wfiifoa &

(a) THAH (b) SHH (c) TS (d) ThIeH
192. SHeTEL R :

(a) TS TgAD (b) TATEITTh SgeTh

(c) TTIYHT Sgeih (d) qH-ge Sgeth
193. S-S H S HI AT 2 :

(a) TEH (b) =Tt ORUERL] (d) afefaere

194, YU ShIHSITHT H TATS TTeel i & -
(a) Taferent (b) HfcHEA HEHE  (¢) TRH FIMNATA (d) HEieh foretreh

195. Tl qe JRET < fHeor o qUeehiehto o foTe Jad THTe aehHie &

(a) Tr=rega (b) Tsheecfientor (c) ST (d) AEEA
196. TR SHIHIITR! H Taifersh T B dTell SaoT 2

(a) WU (b) 3TER (c) IHIef (d) Hifew I
197. S3hid T 3T ]

(a) dicfiunTES OREISIEIIE (c) diehTeeX (d) dicfufsrarTseEa
198. hich W f5g vt § i< &1 T Tgd Bl 7

(a) e (b) TR (c) $He (d) el

199. THTST FTESH 1 ITANT {ohaT ST &, STa
(a) <1 SN o TeHhi T IR FABATE | (b) < Zal o FIUThI hT TR 3TTereh BT 2 |
(c) I gal o FIUAThI T FAHARATR | (d) S ST o Teiiehi <l T I BT 2 |

200. fF=ferfga Dfireni & st HHE FH 2 -
(a) CH,COOH > CH,CH,COOH > C,H,COOH > C,H,CH,COOH
(b) C,H,CH,COOH > C,H,COOH > CH,COOH > CH,CH,COOH
(c) C4H,COOH > CH,CH,COOH > CH,COOH > CH,CH,COOH
(d) CH,CH,COOH > CH,COOH > C,H,CH,COOH > C ,H,COOH
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